
The Making of Modern 
Britain:

The sixties: Britain 1964-70

Name:

Teacher: 1



2

Complete the source evaluation for source one:

Content

Provenance

Language 
and tone

L.O: To know who Wilson was and his ideology.
Lesson 1 – Wilson and the Labour governments – Wilson and his ideology
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How does your knowledge of the period 1951 to 1964 help you to understand why Harold Wilson 
made the speech in Source 1 at the beginning of 1964?

________________________________________
________________________________________
________________________________________
________________________________________
________________________________________
________________________________________
________________________________________

When Harold Wilson entered Downing Street in 1964, Labour seemed to be more in touch with the 
social and cultural trends of the 1960s. One of Wilson's most effective campaign speeches had 
promised Britain would catch up with 'the white heat' of technological change.
In 1966 Labour was able to consolidate its position with a further election victory that gave it a sizeable 
majority. Even though the Conservative Party had replaced Douglas-Home as leader with the more 
modern-looking Edward Heath, Heath was no match for Harold Wilson. Wilson was a better political 
tactician and was able to portray a more attractive image to the voters. In contrast, Heath came across 
as stiff and lacking in personality.
Read the information above and the key profile. Why do you think that Harold Wilson and the 
Labour party was voted in to power in 1964?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

L.O: To know who Wilson was and his ideology.
Lesson 1 – Wilson and the Labour governments – Wilson and his ideology

WWW

EBI
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_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

When Wilson's ideology and leadership
Initially Harold Wilson had appeared to be on the Left of the Labour Party. He had been a Bevanite, 
resigning in 1950 over prescription charges. However, he also served in Gaitskell's cabinet. Nevertheless, 
he challenged Gaitskell for the leadership from the Left in 1961. He lost - but this made him the Left's 
obvious candidate in future. In other ways, though, he did not seem to be of the Left. He supported 
Britain's nuclear deterrent and attempted to reform the trade unions.
Critics argue that he was an opportunist. But he did successfully link the Labour Party to modernisation in 
contrast to what were described as the 'wasted years' of the Conservative government.
How the Wilson gain leadership of the Labour party?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know who Wilson was and his ideology.
Lesson 1 – Wilson and the Labour governments – Wilson and his ideology

Analyse the 1964 and 1966 election results. What does each set of results show you? What 
comparisons can you make?

This modernisation was reflected in Wilson's image. He was seen as classless, an image far from the Old 
Etonian style of Eden and Macmillan. He was the first prime minister educated at state secondary school, 
and he smoked a pipe and spoke with a Yorkshire accent. He was also a relaxed and skilful on television.
Why was Wilson different from the Prime ministers we have seen in the previous periods?

However, in private he was anxious and insecure about his leadership. He was conscious of balancing out 
potential rivals so that he would remain unchallenged. Wilson relied heavily on a personal team of trusted 
advisers from outside the government and civil service. Wilson's team was dominated by Marcia Williams, 
his 'personal political secretary'. Others who took part in the informal discussions in the kitchen at 10 
Downing Street included economic advisers and a few 'inner circle' MPs. Many felt that this 'kitchen 
cabinet' reinforced his suspicions of party rivalries and prevented ministers from having access to him.
What potential problems can you identify?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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________________________________________________________________
________________________________________________________________
________________________________________________________________

Economic policies and problems including devaluation
Modernisation of the British economy was a key priority for the Labour government. By 1964, it was 
widely accepted that Britain was lagging behind other countries such as West Germany and Japan.
The affluence of the post-war boom had not been reflected in productivity or growth rates. Britain's 
economy seemed to be trapped in the cycle of 'stop-go', with bursts of prosperity always leading to 
inflation, runs on the pound and regular crises over the balance of payments. Reorganising the 
economy to break out of this cycle was the key aim of Wilson's government in 1964.
Why was it important the Wilson’s government move away from previous economic policies?

L.O: To know the economic policies followed by Wilsons government.
Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation

Retrieval practice: Provide a one-sentence definition for each of these terms: productivity, inflation, 
run on the pound, 'stop-go', balance of payments.

Key word Definition Sentence

Productivity

Inflation

Run on the 
pound

Stop - go

Balance of 
payments

Key 
word

Definition Sentence

GPD
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Deflation would support the value of the pound and prevent inflation. But deflation was the old 'stop-
go' approach that the Labour Party was determined to break away from. Moreover, there were fears 
that it would stop the Labour Party from meeting its manifesto commitments of extra spending on 
welfare and technology.
What are the advantages and disadvantages of deflation?

L.O: To know the economic policies followed by Wilsons government.
Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation

Moreover, Labour had inherited a deficit of about £800 million. The two classic economic solutions to 
this kind of problem were deflation or devaluation. But Wilson and his Chancellor of the Exchequer, 
James Callaghan, did not want to do either.
Who was James Callaghan? Why was he an important figure?

_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________

Advantages Disadvantages

Devaluation would make imports more expensive and help exporters by making British goods cheaper 
in other countries; this would in turn help the balance of payments. But devaluation would not only 
make Britain look weaker in the world, it would make Britain actually weaker as it would have to scale 
back its activities across the globe. Wilson also feared that the Labour Party would gain the reputation 
as the party of devaluation, as it had already devalued the pound under Attlee in 1949.
What are the advantages and disadvantages of devaluation?

Advantages Disadvantages

Key word Definition Sentence

Devaluation
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Who was George Brown?

L.O: To know the economic policies followed by Wilsons government.
Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation

Instead, Wilson was convinced that problems could be solved by careful management and planning. A 
new department, the Department of Economic Affairs (DEA), was set up, led by George Brown. Brown 
set growth targets and devised a national system of 'economic planning councils'. He also tried to 
establish voluntary agreement about wages and prices with industrialists trade union leaders and civil 
servants. The aim was to secure the restraint needed to prevent inflation rising which the government 
would then need to stop with controls. In this way the 'stop-go' cycle of the 1950s could be avoided.
What was the aim of the DEA? What was the plan of action?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

But Brown's economic proposals came to nothing. They did not have united government support; 
Brown and the DEA were virtually in competition with the Chancellor, James Callaghan, and the 
orthodox economists at the Treasury. Some blamed Brown as he could be impulsive and inconsistent; 
others blamed the old-fashioned and anti-Labour civil servants at the Treasury and the Bank of England 
who they felt undermined Brown's efforts, refusing to pass over papers and even tapping his phone. 
Perhaps the real problem may have been political, caused by Harold Wilson trying to keep key 
personalities happy rather than pick the best team for the job. In 1966 Wilson moved Brown to the 
Ministry of Foreign Affairs and the DEA was abandoned in 1967.
Why did Brown’s plans and the DEA fail?

________________________________________________________________
________________________________________________________________
________________________________________________________________

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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The Labour government survived sterling crises in 1965 and 1966. But in 1967, an outbreak of war in 
the Middle East affected oil supplies and a major national dock strike in August 1967 affected the 
balance of payments. The government decided that devaluation could not be avoided; the pound 
dropped by 14 per cent to 2.40 US dollars. Labour also made defence cuts and introduced hire purchase 
restrictions and higher interest rates. These were deflationary policies that looked little different from 
the 'stop-go' policies of previous Tory governments.
Why could the government no longer avoid devaluation?

L.O: To know the economic policies followed by Wilsons government.
Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation

Instead the government brought in a prices and incomes policy to keep down inflation, implemented by 
a Prices and Incomes Board. But there was another sterling crisis in 1966, caused in part by a long and 
bitter strike by the National Union of Seamen. The government defeated the strike but many, especially 
on the Left, were shocked by Wilson's critical attitude to the strikers. And, in the aftermath, the trade 
unionist Frank Cousins resigned from the cabinet over the incomes policy. The relationship between the 
government and the unions was starting to break down.
What was the aim of the Prices and incomes board? How did events with unions cause problems for 
the board?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

How valuable was Source two for a historian studying Labour’s economic policy?

________________________________________________________________
________________________________________________________________
________________________________________________________________

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

Key word Definition Sentence

Prices and 
incomes 
policy

WWW

EBI
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Complete the source evaluation for source two:

Content

Provenance

Language 
and tone

L.O: To know the economic policies followed by Wilsons government.
Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
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L.O: To know the economic policies followed by Wilsons government.
Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation

Labour had tried so hard to avoid devaluation that the devaluation crisis damaged its credibility. A few 
weeks later, Britain's second application to join the EEC was rejected. The application to join the EEC 
had been made above all on economic grounds as Wilson himself was lukewarm about Europe and 
much of the Labour Party did not want to join. Having the application rejected hard on the heels of the 
devaluation crisis made the government's economic policies look futile.
What issues did the Labour party face with their economic policies?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

In fact, the economic situation improved markedly from this low point. 
Callaghan's replacement as Chancellor was Roy Jenkins, who had been 
strongly in favour of devaluation in 1964.
Jenkins used deflationary methods. He raised taxes and tightened up 
government spending in all areas of the economy, giving top priority to 
improving the balance of payments. These tough measures made the 
government unpopular but, by 1969, Jenkins had achieved a balance of 
payments surplus, although by 1969 to 1970 inflation was still running at 12 
per cent. The improvement in the economic situation from 1969 was a key 
factor in making Labour confident of victory in the 1970 general election.
How did the new Chancellor improve the economy?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Draw a flow diagram to show the causes and impact of devaluation in 1967.
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'The Labour government had solved Britain's economic problems by 1970.' Explain 
why you agree or disagree with this view.

Use the space below to plan an answer to the question

L.O: To know the economic policies followed by Wilsons government.
Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
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L.O: To know the issues the Labour party had with trade unions and industry.
Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions

Industrial relations and the trade unions
One of the key elements in the post-war consensus was the influence of the trade unions. Since the 
war, all governments, Conservative as well as Labour, had seen it as essential to maintain full 
employment and to keep the unions happy. In opinion polls in the early 1960s, nearly 60 per cent of 
people said they had a favourable view of the unions. In 1964, Wilson made the trade unionist Frank 
Cousins minister of technology and Wilson was relying on union cooperation with his prices and 
incomes policies.
Why was relations with trade unions significant?________________________________________________________________

________________________________________________________________
________________________________________________________________

In 1966 and 1967, industrial relations with the trade unions began to deteriorate. Strikes by the seamen 
and the dockers caused economic problems for the government. These strikes also seemed to 
demonstrate that old-style union bosses were losing some of their control. A lot of strikes started with 
'wildcat' strikes by local activists who would not take orders from the top. The Conservative opposition 
under Edward Heath announced a policy that it called 'Fair Deal at Work'. Wilson and his new 
employment minister, Barbara Castle, also started planning to use the law to limit unofficial strikes.
What were the reasons that Wilson felt that he now needed to act?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

Who is Barbara Castle?

Key word Definition Sentence

Wildcat 
strikes
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L.O: To know the issues the Labour party had with trade unions and industry.
Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions

Barbara Castle believed strongly in a powerful trade union movement but she was also convinced of the 
need for it to act responsibly. In January 1969 Castle produced her white paper, In Place of Strife. She 
knew it would be controversial, suggesting that it could be 'political suicide'.
What was the problem with in place of Strife?

________________________________________________________________
________________________________________________________________
________________________________________________________________

Explain in place of strife:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Voters liked Castle's proposals and the proposals were supported by many Labour MPs such as Roy Jenkins, the 
Chancellor, but the unions and the Left of the Labour Party hated them. There was a storm of protest from 
powerful union leaders such as Jack Jones of the Transport and General Workers' Union, supported by the 
Home Secretary, James Callaghan and at least 50 Labour MPs who were ready to rebel. The row went on for 
months until Wilson gave in. In June 1969, the TUC negotiated a face-saving compromise but everyone knew it 
was really a humiliating climbdown by the government.
Why did the government have to abandon this plan? What would the impact of this be on the government?

Key word Definition Sentence

White 
paper 

_________________________________________
_________________________________________
_________________________________________

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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Imagine you are political advisers to the Labour government in 1969.Devise a list of 
points that support the case for abandoning In Place of Strife and a list of reasons why 
it is essential to push the policy through. When you have looked at both sides of the 
argument, decide what you will advise and put forward your case.

L.O: To know the issues the Labour party had with trade unions and industry.
Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________

Reasons to support the case for abandoning In 
Place of Strife:

______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________

Reasons it is essential to push the policy 
through:

Explain your final opinion:
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L.O: To know why there was further divisions in the Labour party.
Lesson 5 – Wilson and the Labour governments: Technology and party divisions

Technology
Although Wilson wanted to emphasise technology and science in modernising Britain's economy, the 
government was hindered by a lack of expertise. Roy Jenkins, the first minister of aviation, later admitted 
that he had difficulty understanding his briefings because of his non-scientific mind, while the first minister 
of technology, Frank Cousins, had little interest in technological development. In 1966, when Tony Benn 
took over as minister, the department performed better. But in some ways all Labour's domestic policies 
were overshadowed by economic problems.
Research and development was costly. Although Britain pursued some projects such as the supersonic 
plane Concorde which it developed in partnership with the French government, it could not compete with 
the USA, which spent vast government sums on research and development.
What problems did Wilson have with his vision for technology?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
What does source three tell you about technological advances in the 1960s?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Labour divisions
The divisions between the Left and the Right in the Labour Party remained in the period after 1964. 
However, after the death of Bevan, the leader of the Left, in 1960 and Gaitskell, the leader of the Right, 
in 1963, Wilson had emerged as a conciliatory leader of the party. Wilson's concentration on the Labour 
Party as the party of technological modernisation united both the Left and Right of the parties and 
minimised underlying tensions such as that over Clause IV.
Why could it appear that Labour divisions had ended by 1964?

________________________________________________________________
________________________________________________________________
________________________________________________________________

Nevertheless, there were personal rivalries between Wilson and his most powerful cabinet colleagues. 
Wilson always feared that he might face a leadership challenge from Brown or Callaghan or Jenkins. 
Brown was hugely resentful that he had lost the leadership election to Wilson and was further 
disappointed that he was not made Foreign Secretary in 1964. Wilson was rumoured to have 
undermined Brown's reputation by keeping a record of any embarrassing incidents that he was involved 
in once he had been reshuffled to the Foreign Office. Wilson was also suspicious of Jenkins, a 
Gaitskellite. He did not really support Jenkins' liberalising legislation as home secretary. When the 
seaman's strike of 1966 caused a sterling crisis Jenkins tried to get the cabinet to support devaluation. 
Wilson interpreted this as a plot to replace himself and Brown with Callaghan and Jenkins.
Explain why Wilson was concerned about leadership contests from Brown, Callaghan and Jenkins.
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L.O: To know why there was further divisions in the Labour party.
Lesson 5 – Wilson and the Labour governments: Technology and party divisions

This highlights Wilson's paranoia as it was highly unlikely that Callaghan and Jenkins would work 
together. Callaghan did not approve of Jenkins' pro-European stance nor of his liberalising legislation; 
Jenkins was critical of the failure to devalue when Callaghan was Chancellor and was a supporter of the 
trade union legislation that Callaghan helped to block.
Explain why Wilson was likely to be incorrect in his assessment of his ‘rivals’:

________________________________________________________________
________________________________________________________________
________________________________________________________________

It is possible to criticise Wilson as in some ways it appears that too much of his energy and attention 
was devoted to trying to keep the party united and in stopping any of his colleagues from being able to 
threaten his position. Wilson did not face any obvious challenger from the left of the party but those 
who were more left-wing in the unions, local government and young people were frustrated by his 
government and this made it likely that the divide between the Left and Right would re-emerge in the 
1970s.
Explain the impact of Labour divisions in the 1960s.

Explain why Wilson was concerned about leadership contests from Brown, Callaghan and Jenkins.

Brown

Callaghan

Jenkins

________________________________________________________________
________________________________________________________________
________________________________________________________________
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Complete the source evaluation for source three:

Content

Provenance

Language 
and tone

L.O: To know why there was further divisions in the Labour party.
Lesson 5 – Wilson and the Labour governments: Technology and party divisions
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L.O: To know the events around the beginning of the Troubles in Northern Ireland.
Lesson 6 – Wilson and the Labour governments: The Trouble in Northern Ireland

The beginning of the 'Troubles' in Northern Ireland
Northern Ireland had been created in 1922, after the Irish War of Independence of 1919 to 1921. 
Ireland was partitioned between 6 counties in the north of Ireland that would remain part of the United 
Kingdom and the other 26 counties which would be the Irish Free State, what would become the 
Republic of Ireland. The partition was extremely controversial at the time leading to civil war, with 
unionists supporting the union with Britain and nationalists supporting a united Ireland.
What were unionists and nationalists?

________________________________________________________________
________________________________________________________________

The majority of people in Ireland as a whole were Catholic but the 
majority of people in Northern Ireland were Protestant. This meant 
that the Belfast parliament at Stormont and the whole socio-
economic system in Northern Ireland was dominated by Protestant 
unionists. By the mid- 1960s there was mounting evidence that 
Catholics in Northern Ireland were discriminated against in 
employment and housing and that electoral boundaries had been 
deliberately drawn to prevent Catholics from being elected; in 
addition, there were accusations that the Royal Ulster Constabulary 
(RUC), the Northern Irish police force, was biased against Catholics.
Explain the issues between Catholics and Protestants:

Key word Definition Sentence

Unionist

Nationalist

__________________________________________
__________________________________________
__________________________________________
__________________________________________

In 1964, the civil rights movement in Northern Ireland started to challenge this. Tensions rose as some 
unionists feared that the Irish Republican Army (IRA) would start a new campaign. These so-called 
loyalists started to set up paramilitary organisations to defend the union.
Why do we see the beginnings of the troubles in 1964?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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L.O: To know the events around the beginning of the Troubles in Northern Ireland.
Lesson 6 – Wilson and the Labour governments: The Trouble in Northern Ireland

Civil rights marches were held in 1968 to protest against discrimination. They were attacked by 
loyalists. Catholics complained that the RUC failed to protect them. In 1969 the situation deteriorated 
further. The loyalist Apprentice Boys went ahead with their annual march in Derry and were attacked 
by nationalists in the Catholic area of the Bogside. The RUC tried to storm the Bogside but were held 
back in two days of rioting. Television pictures broadcast across the world showed RUC officers beating 
Catholics. Riots spread to other towns and cities. The Stormont government offered concessions on 
housing and electoral boundaries; this sparked rioting from loyalists. In August 1969, the Wilson 
government sent in British army troops in an attempt to keep the peace.
Explain the Battle of Bogside and the impact that it had:

Key word Definition Sentence

Irish 
Republican 
Army (IRA)

Paramilitary

Apprentice 
boys

____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________

Fig. 10 The Battle of the Bogside
________________________________________________________________
________________________________________________________________
________________________________________________________________
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L.O: To know why historians argue that post war consensus ended by 1970.
Lesson 7 – Wilson and the Labour governments: The end of post war consensus

The end of post-war consensus
By 1970 there were the first signs that the post-war consensus was breaking down. Britain's economic 
problems did not seem to have been solved by consensus policies. Trade unions were seemingly more 
uncooperative, forcing even the Labour Party to try and reform industrial relations. The Left of the 
Labour Party was dissatisfied by moderate consensus Labour policies. Social problems and poverty had 
not been ended. Meanwhile, in the Conservative party, Edward Heath and his shadow cabinet were 
also starting to doubt the efficacy of key elements of the post-war consensus: as well as identifying the 
need for trade union reform, they were also questioning whether the State should take as great a role 
in planning the economy and in ensuring full employment.
Retrieval practice: What was post war consensus?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Explain why post war consensus was at an end by 1970:
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

The loss of the 1970 election
In some ways the Conservatives 1970 election victory seemed to be a surprise. The Wilson government 
had apparently come through its difficult times. Jenkins was credited with achieving economic and 
financial stability; Wilson was considered to be a master campaigner, far more experienced and more 
popular than the Conservative leader, Heath.
Beneath the surface, Heath had greater strengths than he was given credit for. Heath was hardworking, 
conscientious and had an image of competence, even if he was perceived as dull. In addition, Labour's 
position was fragile, Wilson's government had suffered a series of setbacks and real or perceived failures.

In 1968 Enoch Powell made his famous 'rivers of blood' speech which warned against further immigration. 
Although Heath sacked Powell from the shadow cabinet and refused to let Powell take part in the election 
campaign, some people believed that Powell made Voters more likely to vote Conservative. Others 
believed that Heath's actions made him appear strong and principled. Furthermore, concern that the 
post-war consensus was not working meant that the Conservatives' new ideas gained support. Special 
polls in the key marginal constituencies showed a narrow Tory lead. Edward Heath told anyone in his 
party that he was confident of winning.
What were the strengths and weaknesses of Heath as the 1970 election approached:

Strengths Weaknesses
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L.O: To know why historians argue that post war consensus ended by 1970.
Lesson 7 – Wilson and the Labour governments: The end of post war consensus

Analyse the 1970 election results:

________________________________________________________________
________________________________________________________________
________________________________________________________________

Make lists of:
1. reasons why you might have expected Labour to win in 1970
2. reasons why you might have expected Labour to lose in 1970
3. reasons why you might have expected the Conservatives to win in 1970
Which reason was most important in the actual election result — a defeat for Labour?

_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
_________________________________________________________________
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With reference to these three sources and your understanding of the historical context, 
assess the value of these three sources to an historian studying Britain's economy in the 
period 1964 to 1970.
You will notice that the question mentions three sources yet there is only two below. This 
is a big question worth 30 marks. We are going to have a go at answering the question 
with just two sources. Once we feel confident with the demands of the question we will 
add another source. 

L.O: To know why historians argue that post war consensus ended by 1970.
Lesson 7 – Wilson and the Labour governments: The end of post war consensus
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How important is Harold Wilson's leadership in explaining the failures of the Labour 
government from 1964 to 1970?

Use the space below to plan an answer to the question

L.O: To know why historians argue that post war consensus ended by 1970.
Lesson 7 – Wilson and the Labour governments: The end of post war consensus
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Complete the source evaluation for source one:

Content

Provenance

Language 
and tone

L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
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L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform

1. With reference to Source 1, define a 'civilised society'.
2. Consider Jenkins' views in Source 1. Do you agree with his view of the State's duties? Which 

group of voters do you think Jenkins was trying to appeal to when he wrote this in 1959? Which 
type of people might agree/disagree with him?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Roy Jenkins was the Labour Home Secretary in Wilson's government from December 1965 and found 
himself in a position to influence society. Society had already undergone considerable change since the 
1950s, but changes in the law were needed if 'personal freedom' was to be allowed to develop further.
By the end of the 1960s, some of the old taboos and prejudices which Jenkins had deemed prejudicial 
to 'civilised society' had begun to break down. Such change was a gradual evolution and not only the 
result of government legislation. Developments which had been occurring since the 1950s, greater 
affluence, youth culture and the spread of technology, also played a part. Indeed, it could be argued 
that changes 'from the top' merely reflected changes that were already in evidence 'from below'. 
However, some of the changes that took place under the Labour governments were ahead of their time 
in terms of general acceptance. The abolition of capital punishment, the Abortion Act, the Sexual 
Offences Act, and divorce reform all met with a good deal of media criticism and public hostility.
Why did Jenkins feel that the 1960s was the right time to change legislation?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Private members' bills
The Labour government did not set out with a 'liberalising' agenda; their manifestos didn’t mention moral 
issues. Labour leaders, like Wilson, were conservative on moral issues and many working-class Labour 
MPs were suspicious of change. But laws on moral questions are usually free votes. Labour also favoured 
the use of 'expert witnesses' and a technical and rational approach to alterations in the law.
What approach did Labour favour when considering the law?
_______________________________________________________________
_______________________________________________________________

Key word Definition Sentence

Free vote
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L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform

Although the vast majority of proposed legislation passing through Parliament is government bills, 
there is also the provision for backbench MPs to propose legislation through private members' bills. The 
1960s saw backbench MPs bring forward a number of reforms through this mechanism. They were 
successful because Jenkins, as Home Secretary, was sympathetic and so enabled enough parliamentary 
time to be available for the reforms to be passed.
What is a private members’ bill?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
The end of capital punishment
Arguments against the death penalty had been advanced in the 1950s and although public opinion 
remained sharply divided, the anti-hanging campaign had received a particular boost from the case of 
Ruth Ellis, a young mother who had murdered her unfaithful lover in 1955. In 1957, the Tories had 
reduced the number of offences carrying the death penalty, but the Labour backbencher Sydney 
Silverman continued to campaign tirelessly to win support for a total abolition. In 1965, on a free vote, 
hanging was abolished for a trial period of five years, and in 1969 this was made permanent.
Why did opinions on capital punishments change? How was the end of capital punishment made 
permanent?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Jenkins also refused to authorise the beating of prisoners, which ceased after 1967, and he brought in 
'majority' verdicts for English juries rather than demanding unanimity. This helped convict many 
dangerous and professional criminals, though the abolition of hanging did not significantly reduce the 
number of murders or violent crimes, as its supporters had hoped.
In what other ways did Jenkins change the crime and punishment system?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Fig. 1 Ruth Ellis: the last woman to be hanged in Britain in 1955
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L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform

Divorce reform
Until the 1960s, divorce law demanded evidence that one party had committed adultery. To gain this, 
the rich had used private detectives and cameras, but for others, a divorce was often impossible. 
Jenkins believed the laws were out of date, and the Divorce Reform Act was passed in 1969. This 
allowed for fault divorce' following the 'irretrievable breakdown' of a marriage. Couples could divorce 
if:
• they had lived apart for two years and both partners agreed to a divorce
• they had lived apart for five years and one partner wanted the divorce.
However, not all MPs were in favour.
What was needed to get a divorce before 1969?

Following the reform there was a huge increase in the number of divorces. In 1950 there had been 
fewer than 2 divorce decrees per 1000 married couples in England and Wales, but by the mid- 1970s 
nearly 10 in every 1000 marriages ended this way. This could, of course, be partly explained by growing 
female independence, but it is very likely the Act played a major role.
How did divorce figures change with the new law?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Key word Definition Sentence

Unanimity

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
Imagine its 1969. What are the positives and negatives of the new divorce law?

Positive Negative
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Complete the source evaluation for source two:

Content

Provenance

Language 
and tone

L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
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L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships

The legalisation of abortion
Until 1967, abortion (except on strictly medical grounds) was illegal. The only way of terminating a 
pregnancy was to find a private clinic, if you could afford the fees, or search out a backstreet abortionist 
if you could not. Between 100,000 and 200,000 illegal abortions were performed each year and around 
35,000 women were admitted to hospitals with complications as a result. Worse still, between 1958 
and 1960, 82 women died after backstreet abortions.
What was the problems/dangers for women trying to seek an abortion before 1967?

The Abortion Law Reform Association had campaigned for a reform in the law from 1945, arguing that 
legal obstacles to abortion ought to be removed to end these problems, but it was the thalidomide 
disaster of 1959 to 1962 that did more to sway public opinion than any of their arguments. Not 
everyone was convinced though; in 1966 the Society for the Protection of the Unborn child was set up 
to oppose any liberalisation of the law, fearing that any extension of abortion beyond strict medical 
grounds would lead to abortion on demand.
Identify the arguments for both groups?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Why was the thalidomide disaster significant in changing the abortion law?

The Abortion Law Reform Association The Society for the Protection of the Unborn child

Liberal MP David Steel led the reform campaign in Parliament, supported by the 
Labour government and a number of Conservatives, and Roy Jenkins ensured an all-
night Commons sitting to pass the bill.
What support did the abortion law have?
____________________________________________________
____________________________________________________
____________________________________________________
____________________________________________________
____________________________________________________
____________________________________________________
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L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships

The Abortion Act permitted the legal termination of a pregnancy within the first 28 weeks, under 
medical supervision and with the written consent of 2 doctors. Importantly, the only justification 
needed was the 'mental suffering' of the pregnant woman, not just her physical condition.
The pro-abortionists celebrated, but hopes that the availability of more effective contraceptives and 
better education would limit the need for abortion proved false. The number of abortions increased 
from 4 per 100 live births in 1968 (35,000) to 17.6 in 1975 (141,000).
How did the law change? What was the impact of this?

The legalisation of homosexual relations
Up until the 1960s men could be imprisoned for two years for participating in homosexual acts. The 
Conservative government had rejected the Wolfenden recommendation to decriminalise 
homosexuality and the Labour government of 1964 was divided on the issue. 
It was left to Leo Abse, a Labour backbencher, to take up the cause. Thanks to Jenkins' support he was 
able to get enough parliamentary time for his private members' bill to become law as the 1967 Sexual 
Offences Act. Although this did not legalise homosexual acts it decriminalised them where three 
conditions were met:
• both partners had to consent
• both had to be over the age of 21
• it had to be in private.
Who supported the law? What were the conditions of the law passed?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
The Act was welcomed by men who had previously been afraid to declare their sexuality and, in some 
cases, been forced to lead double lives. However, the Act was strictly interpreted: 'in private' was 
interpreted as no one else being in the same building, so it did not mean the complete end of 
prosecutions for homosexual practices.
What was positive and negative about the new law?

Positive Negative
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Fill in the chart below and assess the liberalising legislation of 1964 to 1970.

L.O: To know how the government changed key pieces of legislation to liberalise society.
Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships

Act and date Background/support 
and promoter

Details of act Impact Success?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Which liberalising legislation do you think had the biggest impact? Explain your answer.
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L.O: To know how the Labour government reformed the British Education system.
Lesson 10 – Liberal reforming legislation: Education reform

The development of comprehensive schools
By the 1960s the idea that the different types of secondary school in the tripartite system were equal in 
status had long since passed. The secondary modern pupils were seen as 11+ failures and the whole 
system appeared socially divisive, with the majority of grammar school places going to those from a 
middle-class background.
Why was the tripartite system no longer working by the 1960s?

Local Education Authorities (LEAS) were responsible for schools and in some areas, for example, 
Labour-controlled Greater London, they had established comprehensive schools. In comprehensive 
schools every child would have the same opportunities to learn at their own pace and sit exams 
according to their own abilities in each subject.
By 1964, 1 in 10 pupils was being educated in a comprehensive (10 times as many as in 1951) but it was 
still only a small minority. In 1965 Tony Crosland, a leading supporter of the comprehensive system, 
became minister of education which accelerated this process.
What was the benefit of the comprehensive system?

___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________

_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
He issued Circular 10/65, to all Local Education Authorities, requesting them to convert to 
comprehensive schools. Although it was not a statutory requirement, many authorities responded 
especially after 1966 when the government made money for new school buildings conditional on the 
drawing up of plans for comprehensives. By 1970, only 8 authorities had failed to do so and there were 
1145 comprehensive schools catering for 1 in 3 of all state educated secondary school pupils.
Why did local authorities start to move towards comprehensive schools?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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L.O: To know how the Labour government reformed the British Education system.
Lesson 10 – Liberal reforming legislation: Education reform

It is hard to say how successful the new comprehensives were. The mergers and changes in status for 
schools caused considerable disruption in the early days. Wilson justified them by claiming that 
comprehensives meant a 'grammar school education for all', but many middle-class parents remained 
unconvinced. Some turned to the direct grant schools (which were allowed to continue) and 
independent schools, which meant that the idea of a truly 'comprehensive' system was flawed from the 
start.
What were the criticisms of comprehensive schools?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

The expansion of higher education and the inauguration of the Open University
Fears that Britain was slipping behind in science and technological education had already led to the 
establishment of the Robbins Committee in 1961.The Robbins Report found that Britain lagged behind 
France, Germany and the United States in the provision of university places and that too many students 
followed arts-related courses to the exclusion of the study of science and technology. The Labour 
government responded by expanding higher education:
• Polytechnics replaced Colleges of Technology. Their focus was to be on applied education for work 
and science and they would concentrate on teaching rather than research.
• Nine Colleges of Advanced Technology became full universities and the Royal College of Science in 
Scotland became Strathclyde University. 
• 'New' universities were to be founded (and charters given to some, like Sussex, which had recently 
been established).
How did the Labour party expand higher education?____________________________________________

____________________________________________
____________________________________________
____________________________________________
____________________________________________
____________________________________________
____________________________________________
____________________________________________

Key word Definition Sentence

Comprehensive 
school

Direct grant 
schools
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L.O: To know how the Labour government reformed the British Education system.
Lesson 10 – Liberal reforming legislation: Education reform

Look at the map below. What does the map tell us about Labour's policy for education?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

By 1968, there were 30 polytechnics and 56 universities. New institutions brought new courses and it 
became possible, for example, to take a degree in town planning and architecture. The new 
polytechnics and universities opened up higher education for many whose families had never attended 
a university, although middle-class children still dominated the old universities so it was hard to 
persuade anyone of the parity of opportunity.
What was the impact of the new universities on society?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform

The Open University
Harold Wilson was later to say that he most wanted to be remembered for the creation of the Open 
University. It combined his enthusiasms for equal opportunities in education, modernisation and the 
'white heat of technology' by attempting to offer high-quality degree-level learning in arts and sciences 
to people who had never had the opportunity to attend campus universities.
In March 1963, a Labour Party study group proposed an experiment on radio and television to be called 
the 'University of the Air'. Following his election success in 1964, Wilson appointed Jennie Lee to 
consider the project, and it was her commitment that saw it through.
Why was Harold Wilson keen to be remembered for the open university? Who was Jennie Lee?

_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________

1. In what ways are Lee's reminiscences in Source 3 helpful in understanding the influences behind 
the support for the Open University in the late 1960s?

2. How does your understanding of the context of this period help you to understand the 
establishment of the Open University?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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Complete the source evaluation for source three:

Content

Provenance

Language 
and tone

L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform
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L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform

In September 1969, the Open University's headquarters were established in Milton Keynes and by the 
middle of 1970 there had been enough applications for the first students to begin their studies in 
January 1971. It became a rapid success. The university used radio and television in innovative forms of 
distance learning, and recruited largely part-time students with a totally different social profile from 
traditional students. It attracted the mature, women and the disadvantaged, and it helped raise the 
esteem of those who had previously regarded themselves as educational failures. By 1980, the Open 
University had 70,000 students and was awarding more degrees than Oxford and Cambridge combined.
Why was the open university a success?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
1. Draw a spider diagram of all the causes for educational reform you can find in this chapter.
2. Write a paragraph that explains which cause you think is the most important and why.

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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1. Make a list of all the social changes that this chapter covers.
2. Identify who was affected by each change.
3. Which change do you think was the biggest?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform
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With reference to these three sources and your understanding of the historical context, 
assess the value of these three sources to an historian studying the causes of social 
change in the 1960s.

L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform
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'Liberalising legislation between 1964 and 1970 transformed British society.‘ 
Assess the validity of this view.

Use the space below to plan an answer to the question

L.O: To know how the Labour government reformed the British Education system.
Lesson 11 – Liberal reforming legislation: Education reform



41

Complete the source evaluation for source one:

Content

Provenance

Language 
and tone

L.O: To know how a growth in media and leisure change society.
Lesson 12 – Social and Cultural change: Growth in media and leisure
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The expansion of the mass media
In the 1960s the mass media grew in size and type. Television became available everywhere, which 
started to create a uniformity of culture and ended the isolation of distant communities. The news was 
no longer relayed by a disembodied voice or lifeless newspaper. Television rapidly supplanted the 
cinema as a means of entertainment.
By 1961, 75% of the population had a TV in their home and by 1971 it was 91 per cent. When Hugh 
Greene became Director-General of the BBC in 1960, he set out to transform it. Money was diverted 
from radio to television, guidelines on nudity and swearing were revised, a new style of news 
presentation and more popular programmes were commissioned.
The launch of ITV in 1955 had allowed advertising to expand. Advertisers could get straight into the 
family sitting room and tempt customers with attractive models that reinforced the brand names of 
goods. BBC2 was launched in April 1964 allowing BBC1 to grow more populist and, in July 1967, BBC2 
became the first channel to broadcast regular colour programmes.
How did television grow and develop during this period? What impact did the growth of television 
have on society?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

1. With reference to Source 1, define a 'civilised society'.
2. Look back at your answer to the activity on page 25. Are your definitions the same?
3. Why do you think Jenkins is making the case for a 'civilised society' again in 1969? How does this 

help you put Source 1 into context?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

L.O: To know how a growth in media and leisure change society.
Lesson 12 – Social and Cultural change: Growth in media and leisure
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Some predicted that the arrival of the TV would mark the end of the print media. Advertising revenue 
fell along with readership, but those newspapers and magazines that survived, changed and grew 
stronger. The Sun, for example, launched in 1964, replaced the serious working-class newspaper, the 
Daily Herald, and set out to be 'the only newspaper born of the age we live in'. In 1969, The Sun was 
bought by the Australian newspaper tycoon Rupert Murdoch. He associated it with the more permissive 
attitudes of the age and its popularity grew enormously.
How did print media change?

_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________

Radio survived, helped by the development of the cheap and portable transistor and the spread of car
radios. These, with long-life batteries and earphones, meant that radios could be taken out or listened
to in the privacy of the bedroom. Teenagers no longer had to listen to what their parents wanted to
hear and personal radios meant that programmes could be targeted at different audiences.
At the beginning of the 1960s, there were just three BBC radio stations. Commercial enterprise seized
this gap in the market. Young people who could obtain the signal started to listen to the nightly
broadcasts of pop music from Radio Luxembourg and from 1964 the 'pirate stations'. After the pirate
stations were banned, a BBC pop music station, Radio One, was started. The station made use of 

former
pirate DJs such as Tony Blackburn, and soon won many converts.
How did radio change? How did this add to youth culture?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

L.O: To know how a growth in media and leisure change society.
Lesson 12 – Social and Cultural change: Growth in media and leisure

Growth in leisure activities
By the 1960s leisure time expanded as fewer people were expected to work on Saturday mornings and 
weekends could be given over to leisure activities.
Home remained the centre of many leisure activities and this was extended by TV. By 1969, TV 
accounted for 23 per cent of leisure time. 'Do-it-yourself) (DIY) and gardening became popular hobbies. 
Cookery, needlework and knitting still had a place in the 1960s home, and were encouraged by both 
new gadgetry and the ease with which tasks such as knitting could be combined with TV viewing. Live 
theatre, on the other hand, shrank rapidly, especially outside major cities, while attendance at football 
matches and other 'live' events also suffered.
What was the impact in leisure activities in the home?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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The 1960s also saw leisure travel turn into mass tourism as the number of holidays (stays of more than 
three days at a tourist destination) increased.
Britannia Airways was founded in 1964 to serve holidaymakers wishing to fly to Spain, the Canary 
Islands, Malta, Bulgaria and North Africa. However, the costs of air travel meant that for most of the 
1960s holidays abroad were still largely the preserve of the middle classes. Package holidays were still 
in their infancy by the end of the 1960s, although they had grown from under 4 per cent of total 
holidays in 1966 to 8.4 per cent in 1971. Travel abroad also began to inject some continental flavour 
into British tastes, even if it was only among the better-off middle classes. Restaurants and wine bars 
appeared, to cater for these new tastes.
Explain the impact of holidays:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________

L.O: To know how a growth in media and leisure change society.
Lesson 12 – Social and Cultural change: Growth in media and leisure

Car ownership accelerated rapidly in the 1960s. Passenger bus, coach and train travel declined as the 
use of the car grew to account for 77 per cent of journeys by 1974 (up from 39 per cent in 1954). 
Technological improvements meant that cars had become more affordable. Cars permitted travel to 
alternative shopping centres and leisure facilities and activities from caravanning to golf and sailing all 
built up a devoted following. For the providers of equipment and facilities, leisure had become a 
profitable business. Shopping became a leisure activity in its own right as mass production grew, fuelled 
by advertising.
What was the impact of a rise in car ownership for leisure activities?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
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Research the scientific developments that affected ordinary people's lives. Summarise 
their impact in the table below: 
Write a paragraph explaining which one you think is most significant and why.

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how science and a reduction in censorship became important in changing society.
Lesson 13 – Social and Cultural change: Science and Censorship

Impact of scientific developments
The 1960s were a time of great development in science and technology. In 1961 the first person had 
gone into space and by 1969 the United States had landed on the moon. The Labour government had 
made scientific development a key aim. Despite economic problems and financial restraints, there was 
progress. The Anglo-French partnership continued to develop the supersonic Concorde aircraft. The 
Post Office Tower, then the tallest building in Britain, opened in 1965 to improve telecommunications.
probably more important to the lives of ordinary people were the developments that affected their 
day-to-day lives.
Why was scientific development significant?

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

Development What changed? Who did this impact? Significance

Media —
television and 
radio

Travel

Fashion

Contraceptive 
pill

New 
household 
appliances 
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The Royal Court Theatre in London was at the centre of innovation. After Edward Bond's controversial 
play Early Morning was banned in 1967, the backbencher George Strauss introduced a bill to abolish 
theatrical censorship With Roy Jenkins' support, and the testimony of the famous actor Laurence 
Olivier, the bill passed into law in 1968.
The removal of theatrical censorship permitted nudity on stage, and the new Act was celebrated when 
13 members of the cast of Hair, an American musical in production at the Shaftesbury Theatre in 
London, stood up and faced the audience naked for 30 seconds in 1968.
How did censorship change? What did this mean for the arts?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how science and a reduction in censorship became important in changing society.
Lesson 13 – Social and Cultural change: Science and Censorship

Reduction in censorship
Playwrights began experimenting with new styles of plays, often addressing social issues with a 
frankness that led to clashes with the office of the Lord Chamberlain. New plays had to gain a licence 
from the Lord Chamberlain's Office before they were allowed to be performed. The Lord Chamberlain's 
Office could demand that material that it considered to be inappropriate or immoral was removed. 
Theatre owners could be prosecuted if a play did not have approval.
What were the rules for putting on a new play?

________________________________________________
________________________________________________
________________________________________________
________________________________________________
________________________________________________
________________________________________________
________________________________________________
________________________________________________
________________________________________________

Key word Definition Sentence

Lord 
Chamberlain’s 
office

Censorship
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Complete the source evaluation for source two:

Content

Provenance

Language 
and tone

L.O: To know how science and a reduction in censorship became important in changing society.
Lesson 13 – Social and Cultural change: Science and Censorship
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Films remained subject to strict categorisation by the British Board of Film Censors. Nevertheless, the 
1960s saw a gradual broadening of what was considered acceptable. Films of the mid-1960s grew more 
daring, with examples such as Darling (1965), Alfie (1966) and Here We Go Round the Mulberry Bush 
(1967). By the end of the decade, screen violence and sex had become more acceptable and more 
explicit. Nevertheless, the reduction of censorship did not create an immediate wave of decadence and 
it largely legitimised changes that had already taken place.
TV was both affected by, and helped to develop, more liberal attitudes. As the 1960s progressed, issues 
of sex, violence, politics and religion, which had previously been banned or considered unsuitable for 
public broadcasting, were tackled.
How did the reduction in censorship change film and TV?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how science and a reduction in censorship became important in changing society.
Lesson 13 – Social and Cultural change: Science and Censorship

1. What did Darlington think about the production he reviewed?
2. Are reviews, such as this one, valuable for historians who want to understand social issues? 

Explain your answer.

_____________________________________________
_____________________________________________
_____________________________________________
_____________________________________________
_____________________________________________
_____________________________________________
_____________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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At the lower end of the social scale, girls' education still carried a domestic slant and girls frequently left 
school at the minimum age and married young. There was no shortage of jobs for women (not least 
because, before 1970, employers could pay them less than men) but many of these were in the clerical 
and service sector with no prospects and poor pay. Some women wanted to work, even when they had 
children, but working mothers were still often portrayed as unnatural and selfish by the media. 
Childminders were rare in the 1960s and private nurseries were only available for the wealthy.
What opportunities were there for women at the lower end of the social scale?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how life changed for women in the 1960s.
Lesson 14 – Social and Cultural change: female equality

Progress towards female equality 
The belief that the duty of a woman was to be a good wife and mother, keeping a clean home and 
feeding children and husband, remained strong for most of the 1960s, as it had been in the 1950s, 
particularly among the working classes.
Second-wave feminism had started in the United States when Betty Friedan in The Feminine Mystique, 
published in 1963, argued that women were unfulfilled with these restricted lives. This spread to 
Britain, where the growth in female education, especially for the middle classes, contributed to growing 
frustration. Few made it to the top professions. Women accounted for only 28 per cent of students in 
higher education in 1970 and only 5 per cent of women ever reached managerial posts.
Why did second wave feminism start?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
_________________________________________________

The National Health Service (Family Planning) Act of 1967 allowed local authorities to provide 
contraceptives and contraceptive advice for the first time. However, changing attitudes meant that the 
number of illegitimate births rose from 5.8 per cent in 1960 to 8.2 per cent in 1970, and the number of 
marriages ending in divorce also rose.
What was the impact of the liberalising society on women?
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Some progress was made: the 1970 Matrimonial Property Act established that the work of a wife, 
whether in paid employment or in the home, should be taken into account in divorce settlements. 
Furthermore, the 1970 Equal Pay Act established the principle of equal pay for equal work, although it 
did not come into force for a further five years. However, the feminist movement did not really make 
much headway until the 1970s. Despite breakthroughs, by the end of the inequalities and 
discrimination still existed and the traditional stereotyping of roles remained strong. Times were 
changing, but the 1960s were a period of evolution, not revolution, for women.
How far was progress for women made?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how life changed for women in the 1960s.
Lesson 14 – Social and Cultural change: female equality

The feminist movement was encouraged by the publication of articles and books exploring the position 
of women such as Women: The Longest Revolution (1966) by Juliet Mitchell and The Female Eunuch by 
Germaine Greer (1970). A number of 'Women's Lib' groups sprang up around the UK to campaign for 
social and economic equality for women.
A rally in Britain in 1969 led to the establishment of the Women's National Co-ordination Committee, 
which brought the various strands of the feminist movement together. At the first National Women's 
Liberation Conference held at Ruskin College, Oxford in February 1970, four demands were put 
forward:
• equal pay  
• free contraception and abortion on request
• equal educational and job opportunities
• free 24-hour childcare.
Explain the feminist movement in Britain:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________
___________________________________

Consider the following contradictions. Were women likely to feel more or less valued and fulfilled as 
a result of the changes that took place?

Labour-saving devices in 
the home freed women 
from the drudgery of 
the kitchen

B
U
T

Advertising of these reinforced 
the female role as a housewife

Increased education and 
access to higher education 
encouraged women to 
develop higher expectations

Slow and difficult 
progress along career 
paths was all the more 
frustrating

The increased availability of 
jobs gave women greater 
independence

Still responsible for home and 
children

Greater control over 
family planning liberated 
women from unwanted 
pregnancy

Men could avoid 
responsibility for family 
planning

Easier divorce created greater 
freedoms

But still a lack of economic 
independence

_______________________________________________________________
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How did liberalising legislation encourage a permissive society?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know the extent that moral attitudes changed.
Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society

Changes in moral attitudes and the permissive society 
In this poem, Larkin links the 1960s to the birth of the 
'permissive society. This refers to a time of general sexual 
liberation, with changes in public and private morals and a 
new openness. Critics used the term in a negative way 
believing it was a decline in conventional moral standards, 
encouraged by the contraceptive pill, the spread of the 
mass media and the enactment of liberal legislation.
What was the permissive society?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

The Catholic Church was hostile to the contraceptive pill, arguing that it was contrary to God's law and 
therefore sinful. Not all prominent Catholics agreed and the Catholic MP Norman St John-Stevas wrote 
a critical essay entitled 'The Pope, the Pill and the People' in 1968.
Permissive ideas were spread by the media, from 'teen' magazines through to a growing number of 
uncensored novels. Previously taboo subjects were discussed in books, on the radio and on television. 
But by the end of the decade, rates of sexually transmitted infections were on the rise, especially 
among the young.
The moral campaigner Mary Whitehouse was concerned by these changes.
What were the criticisms of the shift in attitude?

How valuable is source 4 to an historian studying social change in the period 1964 to 1970?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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Complete the source evaluation for source four:

Content

Provenance

Language 
and tone

L.O: To know the extent that moral attitudes changed.
Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
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The permissive society was also seen in the spread of the drug culture. Cocaine and heroin addiction 
became ten times more prevalent in the first half of the 1960s and the use of soft drugs was more 
commonplace by the end of the decade. The 'hippy lifestyle', with its emphasis on 'free love' and 
'flower power', promoted the drug culture and even the Beatles turned to LSD.
The Dangerous Drugs Act 1967 made it unlawful to possess drugs such as cannabis and cocaine. The 
Wootton Report of 1968 suggested legalising soft drugs like cannabis, but this was rejected by the 
Home Secretary, James Callaghan (who was much less liberal than his predecessor, Roy Jenkins), and 
who wanted 'to call a halt to the rising tide of permissiveness'. In 1970 the maximum sentence for 
supplying drugs was increased to 14 years' imprisonment.
Why was there a spread in drug culture? Explain how the government attempted to combat this:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know the extent that moral attitudes changed.
Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society

The publicity and support that Mrs Whitehouse received led to the setting up of the National Viewers' 
and Listeners' Association in 1965, and this soon had 100,000 members. However, despite her lobbying, 
Whitehouse failed to have any impact on the programmes shown.
Was Mary Whitehouse significant?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
The degree to which liberal permissiveness actually influenced attitudes and behaviour in the 1960s can 
also be exaggerated. Surveys by Michael Schofield on the sexual behaviour of young people (1965) and 
Geoffrey Gorer on Sex and Marriage in England Today (1969, published 1971) found most young people 
were either virgins on marriage or married their first and only sexual partner. A mixture of ignorance 
and social constraints remained and while liberal legislation opened the way to change, it represented 
only an inroad into the old religious and moral restraints.
How far did Britain’s attitudes change towards a permissive society?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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'The extent of the permissive society was still limited by 1970.' 
Assess the validity of this view.

Use the space below to plan an answer to the question

L.O: To know the extent that moral attitudes changed.
Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
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Youth culture was largely defined by fashion and music. For a short while in the 1960s, London was the 
capital of the fashion world. Traditional rules were abandoned. It became acceptable to wear the same 
outfit to work and for the evening. Women wore trousers, and men started to wear velvets, satins and 
brightly coloured fabrics. As the decade progressed, these trends became more extreme. Changing 
fashions, in their own way, thus helped override, or at least mask, some of the old social divisions, both 
between sexes and between classes.
Describe fashion in the 1960s:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how youth culture changed in the 1960s.
Lesson 16 – Social and Cultural change: Youth culture

Youth culture
The coincidence of increased living standards, the spread of education and the growth of leisure time 
helped to create a youth generation that was more inclined to question norms and more ready to 
assert its right to choose.
Young people clashed with their parents over fashion, musical tastes and moral standards, and as seen 
above there was a greater questioning of previous norms around sex and drugs. Such behaviour caused 
a good deal of concern among the older generation. Nevertheless, the extent of teenage promiscuity 
and drug-taking must be kept in proportion. Alcohol, tobacco and caffeine were used more than illegal 
drugs and, according to a survey in 1969, young people spent more time listening to music in their 
bedrooms than at youth clubs or rock festivals.
What was the difference between the reality of the teenager and what the older generation thought?

____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
____________________________________

Young people listened to popular music by tuning in to one of the pirate radio stations or, from 1967, 
BBC Radio One. Television responded to demand with programmes like Ready Steady Go! (ITV, 1963) 
and Top of the Pops (BBC, 1964), which helped spread the latest trends in music, dance, attitude and 
dress. New technology enabled cheap plastic record players and records made music accessible to all.
Explain youth music:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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Anti-Vietnam War riots
Youth culture and political activism merged in opposition to the controversial Vietnam War in the late 
1960s. In the summer of 1965, there were teach -ins on Vietnam at Oxford University and the London 
School of Economics (LSE). The Vietnam Solidarity Campaign or VSC was set up in 1966 gaining 
considerable support among university students.
On 17 March 1968, there were violent scenes at an anti-Vietnam War demonstration in London, near 
the American Embassy in Grosvenor Square On 28 March a still more violent protest known as the 
Battle of Grosvenor Square took place, ending with over 200 people being arrested. The final 
demonstration in October 1968 in which 30,000 people took part was, however, relatively peaceful.
Explain the Anti-Vietnam War riots:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how youth culture changed in the 1960s.
Lesson 16 – Social and Cultural change: Youth culture

Different youth subcultures emerged. By the end of the 1960s, skinheads, characterised by their shaven 
heads, braces and Dr Marten boots, had evolved from the mods. Meanwhile, hippies rejected social 
convention and Establishment attitudes. They embraced 'flower power', which emanated from 
America, and favoured alternative lifestyles with an emphasis on environmentalism, free love and 
peace.
What new youth subcultures were created after 1964?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
The year 1968 also saw a number of other anti-war protests, often combined with demands for more 
student power, in a variety of different universities. At Sussex, a speaker on the Vietnam War, from the 
American Embassy, was covered in red paint, while at Essex, two Conservative MPs were physically 
attacked. The Labour Secretary of State for Education and Science was shouted down in Manchester, 
and Denis Healey, the Labour Defence Secretary, almost had his car overturned by Cambridge students.
Who were the protestors? Why is this significant?

_______________________________________
_______________________________________
_______________________________________
_______________________________________
_______________________________________
_______________________________________
_______________________________________
_______________________________________
_______________________________________
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In 1965 the Labour government passed the first Race Relations Act. This forbade discrimination in 
public places 'on the grounds of colour, race or ethnic or national origins'. However, discrimination in 
housing and employment were excluded. Complaints were to be referred to the Race Relations Board 
whose job was to conciliate between the two sides.
What was the race relations act and race relations board?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know what the attitudes around immigration and race were.
Lesson 17 – Social and Cultural change: Issues of Immigration and race

Issues of immigration and race
The continuing influx of immigrants from the New Commonwealth meant that the social tensions 
experienced in the late 1950s and early 1960s did not go away. A survey in North London in 1965 
showed that one in five objected to working with black people or Asians, half said they would refuse to 
live next door to a black person and nine out of ten disapproved of mixed marriages.
Explain racial tensions during the time (think back to the previous topic):

_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________
_______________________________________________

In February 1968, alarm over the sudden influx of Kenyan Asians 
prompted the government to pass a new Commonwealth Immigration 
Act, limiting the right of return to Britain for non-white Commonwealth 
citizens. The furore over the arrival of the Kenyan Asians prompted 
Enoch Powell to make his notorious 'rivers of blood' speech in April 
1968.
What was the new Commonwealth act? Why was this act passed?

__________________________________________
__________________________________________
__________________________________________

____________________
____________________
____________________
____________________
____________________
____________________
____________________
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Complete the source evaluation for source five:

Content

Provenance

Language 
and tone

L.O: To know what the attitudes around immigration and race were.
Lesson 17 – Social and Cultural change: Issues of Immigration and race
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Powell was strongly condemned by the liberal Establishment. Heath not only sacked him from the 
shadow cabinet but never spoke to him again. The reaction from public opinion was different. There 
were strikes by dockers and meat porters in London and a protest march to Downing Street in response 
to his sacking. A Gallup poll found that 75 per cent of the population supported what Powell had said.
What was the impact of Powell’s speech?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know what the attitudes around immigration and race were.
Lesson 17 – Social and Cultural change: Issues of Immigration and race

How valuable is Source 5 to an historian studying attitudes to immigration in the period 1964 to 
1970?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

However, there were also positive aspects to immigration and evidence of communities living together 
without problems. The Notting Hill Carnival became an annual event from 1964. The appearance of 
Asian corner shops and Chinese takeaways introduced new foods. Youth culture drew from the ethnic 
communities in music, fashion and street life. Hippies of the late 1960s wore Indian and African 
cottons, kaftans, Arabian pants, Indian scarves and ethnic beads. Others enjoyed West Indian styles of 
music, jazz and ska or were attracted by Eastern ways and customs following the Beatles' 'conversion' 
under the guidance of the Maharaja Mahesh Yogi to meditation, yoga, 'love and peace' as well as soft 
drugs.
How did immigration change society?_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

A further Race Relations Act was introduced in 1968. This Act banned racial discrimination in housing, 
employment, insurance and other services. The Race Relations Board was given stronger powers. 
However, there were still loopholes. Employers could discriminate against non-whites in the interests 
of 'racial balance' and complaints against the police were excluded. Furthermore, the Race Relations 
Board upheld only 10 per cent of the 1241 complaints it received about discriminatory employment to 
January 1972 and complaints remained low because victims had little faith in getting effective redress.
What were the positive and negative features of the 1968 race relations act?

Positive Negative
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1. Make a list of social and cultural changes from the period 1964 to 1970.
2. Draw spider diagrams that show the factors that helped to produce these changes. 

Which do you think were the most important? 

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

L.O: To know what the attitudes around immigration and race were.
Lesson 17 – Social and Cultural change: Issues of Immigration and race
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To what extent did women's lives change in the period 1964 to 1970?

Use the space below to plan an answer to the question

L.O: To know what the attitudes around immigration and race were.
Lesson 17 – Social and Cultural change: Issues of Immigration and race
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Complete the source evaluation for source one:

Content

Provenance

Language 
and tone

L.O: To know the nature of the special relationship with the USA 1964-1970.
Lesson 18 – Foreign affairs: Relations with and policies toward the USA
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By 1964, the 'wind of change' had brought independence to 18 New Commonwealth states. The Wilson 
government hoped to continue this process. This would mean not only more decolonisation but also 
reducing Britain's military responsibilities, especially 'east of Suez'. This was complicated by the fact 
that there was still a great deal of both political and public opinion which still believed that Britain had 
an important world role.
The other main issues were Britain's 'special relationship' with the United
States and its relationship with the rest of Europe. These were highlighted by Britain's attitude to 
America's war in Vietnam from 1964 and its attitude to joining the EEC.

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know the nature of the special relationship with the USA 1964-1970.
Lesson 18 – Foreign affairs: Relations with and policies toward the USA

Explain why a knowledge of provenance helps with an understanding of the value of Source 1.

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Relations with and policies towards USA, particularly the issue of Vietnam
Harold Wilson was himself pro-American and was a keen supporter of the Atlantic Alliance. The Cold 
War was ongoing and Britain wanted to ensure that the United States stayed committed to the defence 
of Europe. The continuing possibility of the Soviet threat was highlighted by the Soviet invasion of 
Czechoslovakia that stopped the communist system becoming diluted there.
Explain why the soviet union still posed a threat:
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Complete the source evaluation for source two:

Content

Provenance

Language 
and tone

L.O: To know the nature of the special relationship with the USA 1964-1970.
Lesson 18 – Foreign affairs: Relations with and policies toward the USA
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However, the relationship between Britain and the United States came under strain over the Vietnam 
War.

What was the Vietnam war?

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know the nature of the special relationship with the USA 1964-1970.
Lesson 18 – Foreign affairs: Relations with and policies toward the USA

How valuable is Source 2 to an historian studying the relationship between Britain and the United 
States between 1964 and 1970?

From the time that the escalation of the Vietnam War began in 1964, the US president, Lyndon 
Johnson, wanted to gain support and approval from the United States' allies. Australia sent troops to 
Vietnam and Johnson wanted Britain to do the same. Wilson, however, resisted direct military 
involvement despite his good relationship with Johnson.
The British response to Vietnam was a difficult balancing act for Wilson: he wanted to maintain the 
Atlantic Alliance but the Vietnam War became hugely unpopular in Britain, especially with the Left, so 
he risked losing political support if he was too supportive of it. Also, there were economic and financial 
considerations. Britain could not really afford military involvement; but Wilson also needed the support 
of the United States to support the value of sterling and to avoid devaluation, so he could not afford to 
alienate the United States. In the end the policy can be summed up as giving moral support without 
military support. This annoyed not only the United States who wanted greater backing, but also a 
number of Labour MPs and supporters who wanted the government to condemn the United States.
What were the pros and cons of sending troops to Vietnam:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Positive Negative



66

________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

L.O: To know how the Labour government responded to relations with Europe.
Lesson 19 – Foreign affairs: Response to world affairs and relations with Europe

Think about the policy options for Harold Wilson over the Vietnam War. Do you feel 
Wilson made the correct decision? Write a letter to a newspaper setting out your view.
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Response to world affairs and relations with Europe
The Labour government that came to power in 1964 was not very committed to continuing the 
Conservative policy of seeking entry into the EEC. In 1962 Hugh Gaitskell had fought passionately 
against Britain's first application - he told the Labour Party conference that: 'it would be the end of a 
thousand years of history’. Gaitskell's opposition was based on the fear that the EEC was the first step 
towards a federal political union.
In addition, many on the Labour Left, such as Michael Foot and Barbara Castle, and the trade unions 
were equally hostile. They saw the EEC as a club for capitalists that would prevent Britain from 
following socialist policies. On the other hand there were several Europhiles in the cabinet, especially 
Roy Jenkins and George Brown, who had become the foreign secretary in 1966. Harold Wilson himself 
was more ambivalent; he preferred the Atlantic Alliance and stronger links with the Commonwealth but 
he could also see the strength of some of the economic reasons for joining. He was also very conscious 
of needing to keep the Labour Party united on the issue.
Fill in the table below:

By 1966 Wilson was becoming more convinced of the economic arguments and, in October, Wilson's 
cabinet agreed to back a new application for EEC membership. The prospects of it succeeding were not 
very good. The British bid was in danger of seeming half-hearted because of the doubts within Labour. 
More importantly, de Gaulle was still President of France and there was little sign he had changed his 
mind about British entry. The fact that Britain's chances of joining were poor prevented those on the 
left of the party being too vociferous in their opposition.
What were the problems ahead of the 1966 EEC application?
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

Supporters Reasons

For 
joining 
the EEC

Against 
joining 
the EEC

L.O: To know how the Labour government responded to relations with Europe.
Lesson 19 – Foreign affairs: Response to world affairs and relations with Europe

Key word Definition Sentence

Europhiles
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_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 20 – Foreign affairs: Decolonisation

Wilson and George Brown went to Paris to meet de Gaulle in January 1967 and they thought the 
meeting went quite well. They then toured the other five EEC countries, trying to gain support. In June 
1967, Wilson went back to Paris again. De Gaulle put him on the spot, demanding assurances that 
Britain would detach itself from the 'special relationship'. There was no way Wilson would do this. In 
November, de Gaulle used his veto against British entry. Britain's application was again rejected.
Why was Britain's entry into the EEC rejected?

The Labour government continued the decolonisation policy that had started  under the Conservatives 
and accelerated after Macmillan's 'wind of change' speech.
Withdrawal from 'East of Suez'
The Labour government knew from 1964 that there would have to be a reduction in Britain's military 
commitments for economic reasons. The minister of defence, Denis Healey, started a process of 
spending cuts designed  to bring the defence budget below £2 billion by 1970. Healey's defence white 
paper in 1967 set a timetable for troop withdrawals from Aden, the Middle East, Malaysia and 
Singapore.
Why did it become necessary to withdraw troops?

___________________________
___________________________
___________________________
___________________________
___________________________
___________________________

Some might argue that, given the economic situation that the Labour government inherited, these cuts 
did not go far enough or fast enough. But Wilson believed in both the Atlantic Alliance and in Britain 
continuing to have a world role. Therefore, there was no serious debate about giving up the nuclear 
deterrent despite its expense. The Wilson government announced that it would continue to deploy US 
Polaris missiles. Indeed, in 1967, a commitment was made to upgrade the system.
This changed in January 1968, with the drastic spending cuts introduced by Chancellor Jenkins after the 
1967 devaluation crisis. Withdrawal from East of Suez was rapidly accelerated. Troops were to be 
pulled out of Aden, the Arabian Gulf, Malaysia and Singapore by the end of 1971. Despite the wishes of 
both Wilson and Healey, the development of a new high-tech warplane, the TSR2, was abandoned 
because it was too costly.
Explain how and why Wilsons commitment had to change:
_______________________________________________________________
_______________________________________________________________
_______________________________________________________________
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Complete the source evaluation for source three:

Content

Provenance

Language 
and tone

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 20 – Foreign affairs: Decolonisation
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_______________________________________________________________
_______________________________________________________________

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation

Rhodesia
Macmillan had chosen Cape Town as the place to make his 'wind of change' speech because his target 
was the white minority regimes who thought they could resist reform, rather than the colonial peoples 
who wanted independence. But the white minority regimes were not persuaded. In southern Africa, 
Macmillan's 'wind of change' speech was seen as a challenge and a threat.
Why was Macmillan's wind of change speech significant?

In 1963, the Federation of Rhodesia and Nyasaland had broken up into three separate entities. In 1964, 
northern Rhodesia became the new independent state of Zambia; Nyasaland became independent 
Malawi. Southern Rhodesia hoped for independence at the same time but Britain made it clear that this 
could not happen until majority rule replaced the political domination by the white population.
Why was Rhodesia denied independence?

_______________________________________________________________
_______________________________________________________________
A political row blew up when Ian Smith became prime minister. In 1965 Smith issued a Unilateral 
Declaration of Independence for Rhodesia without accepting majority rule.
Smith's action was a direct challenge to the Labour government. But Wilson hoped he could reach a 
solution in weeks rather than months, either through oil sanctions or by a negotiated solution. Wilson 
met Smith for face-to-face talks on board HMS Tiger off Gibraltar in December 1966. This meeting 
seemed to make progress but Smith then disavowed everything he had said as soon as he got home.
What did Ian Smith want? How did Wilson try to negotiate a solution?

__________________________________________________
__________________________________________________
__________________________________________________
__________________________________________________
__________________________________________________

Wilson's frustrations continued throughout 1967. Oil sanctions did not 
have much effect. It was easy for Rhodesia to get supplies through the 
Portuguese colony of Mozambique, and big oil companies often ignored 
the sanctions policy. South Africa also continued to trade with Rhodesia.
More talks were held on HMS Fearless in October 1968, but by then 
Smith felt stronger not weaker. Smith also believed he could rely on 
support from the right wing of the Conservative Party and all he had to 
do was to wait for Britain to give in. Wilson's diplomacy got nowhere. 
The situation upset the Commonwealth and many on the Labour left 
wing, and at the same time made Britain look weak.
Explain the impact of the failure of Wilson’s negotiation:

_______________________________________________________________
_______________________________________________________________
_______________________________________________________________

_________________
_________________
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Complete the source evaluation for source four:

Content

Provenance

Language 
and tone

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation
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________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________
________________________________________________________________

How useful is Source 4 to the historian studying the success of Britain's decolonisation policies 
between 1964 and 1970?

Fill in the key events under each heading.  Ensure that you add detail to each event.

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation

Britain and the United States Britain and Europe Britain and the Commonwealth
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'Wilson did not achieve any of his foreign policy aims.' Assess the validity of this 
view. 

Use the space below to plan an answer to the question

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation
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How significant were economic problems in determining the direction of Britain's 
foreign policy between 1964 and 1970? 

Use the space below to plan an answer to the question

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation
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With reference to these three sources and your understanding of the historical context, 
assess the value of these three sources to an historian studying how Britain's position in 
the world changed during the period 1964 to 1970.

L.O: To know how the Labour government continued the policy of decolonisation.
Lesson 21 – Foreign affairs: Decolonisation


	The Making of Modern Britain:�The sixties: Britain 1964-70
	L.O: To know who Wilson was and his ideology.�Lesson 1 – Wilson and the Labour governments – Wilson and his ideology
	L.O: To know who Wilson was and his ideology.�Lesson 1 – Wilson and the Labour governments – Wilson and his ideology
	L.O: To know who Wilson was and his ideology.�Lesson 1 – Wilson and the Labour governments – Wilson and his ideology
	L.O: To know the economic policies followed by Wilsons government.�Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 2 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the economic policies followed by Wilsons government.�Lesson 3 – Wilson and the Labour governments: Economic policies and devaluation
	L.O: To know the issues the Labour party had with trade unions and industry.�Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions
	L.O: To know the issues the Labour party had with trade unions and industry.�Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions
	L.O: To know the issues the Labour party had with trade unions and industry.�Lesson 4 – Wilson and the Labour governments: Industrial relations and the trade unions
	L.O: To know why there was further divisions in the Labour party.�Lesson 5 – Wilson and the Labour governments: Technology and party divisions
	L.O: To know why there was further divisions in the Labour party.�Lesson 5 – Wilson and the Labour governments: Technology and party divisions
	L.O: To know why there was further divisions in the Labour party.�Lesson 5 – Wilson and the Labour governments: Technology and party divisions
	L.O: To know the events around the beginning of the Troubles in Northern Ireland.�Lesson 6 – Wilson and the Labour governments: The Trouble in Northern Ireland
	L.O: To know the events around the beginning of the Troubles in Northern Ireland.�Lesson 6 – Wilson and the Labour governments: The Trouble in Northern Ireland
	L.O: To know why historians argue that post war consensus ended by 1970.�Lesson 7 – Wilson and the Labour governments: The end of post war consensus
	L.O: To know why historians argue that post war consensus ended by 1970.�Lesson 7 – Wilson and the Labour governments: The end of post war consensus
	L.O: To know why historians argue that post war consensus ended by 1970.�Lesson 7 – Wilson and the Labour governments: The end of post war consensus
	L.O: To know why historians argue that post war consensus ended by 1970.�Lesson 7 – Wilson and the Labour governments: The end of post war consensus
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 8 – Liberal reforming legislation: Capital punishment and divorce reform
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships
	L.O: To know how the government changed key pieces of legislation to liberalise society.�Lesson 9 – Liberal reforming legislation: Abortion and Homosexual relationships
	L.O: To know how the Labour government reformed the British Education system.�Lesson 10 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 10 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 10 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how the Labour government reformed the British Education system.�Lesson 11 – Liberal reforming legislation: Education reform
	L.O: To know how a growth in media and leisure change society.�Lesson 12 – Social and Cultural change: Growth in media and leisure
	L.O: To know how a growth in media and leisure change society.�Lesson 12 – Social and Cultural change: Growth in media and leisure
	L.O: To know how a growth in media and leisure change society.�Lesson 12 – Social and Cultural change: Growth in media and leisure
	L.O: To know how a growth in media and leisure change society.�Lesson 12 – Social and Cultural change: Growth in media and leisure
	L.O: To know how science and a reduction in censorship became important in changing society.�Lesson 13 – Social and Cultural change: Science and Censorship
	L.O: To know how science and a reduction in censorship became important in changing society.�Lesson 13 – Social and Cultural change: Science and Censorship
	L.O: To know how science and a reduction in censorship became important in changing society.�Lesson 13 – Social and Cultural change: Science and Censorship
	L.O: To know how science and a reduction in censorship became important in changing society.�Lesson 13 – Social and Cultural change: Science and Censorship
	L.O: To know how life changed for women in the 1960s.�Lesson 14 – Social and Cultural change: female equality
	L.O: To know how life changed for women in the 1960s.�Lesson 14 – Social and Cultural change: female equality
	L.O: To know the extent that moral attitudes changed.�Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
	L.O: To know the extent that moral attitudes changed.�Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
	L.O: To know the extent that moral attitudes changed.�Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
	L.O: To know the extent that moral attitudes changed.�Lesson 15 – Social and Cultural change: Moral attitudes and the permissive society
	L.O: To know how youth culture changed in the 1960s.�Lesson 16 – Social and Cultural change: Youth culture
	L.O: To know how youth culture changed in the 1960s.�Lesson 16 – Social and Cultural change: Youth culture
	L.O: To know what the attitudes around immigration and race were.�Lesson 17 – Social and Cultural change: Issues of Immigration and race
	L.O: To know what the attitudes around immigration and race were.�Lesson 17 – Social and Cultural change: Issues of Immigration and race
	L.O: To know what the attitudes around immigration and race were.�Lesson 17 – Social and Cultural change: Issues of Immigration and race
	L.O: To know what the attitudes around immigration and race were.�Lesson 17 – Social and Cultural change: Issues of Immigration and race
	L.O: To know what the attitudes around immigration and race were.�Lesson 17 – Social and Cultural change: Issues of Immigration and race
	L.O: To know the nature of the special relationship with the USA 1964-1970.�Lesson 18 – Foreign affairs: Relations with and policies toward the USA
	L.O: To know the nature of the special relationship with the USA 1964-1970.�Lesson 18 – Foreign affairs: Relations with and policies toward the USA
	L.O: To know the nature of the special relationship with the USA 1964-1970.�Lesson 18 – Foreign affairs: Relations with and policies toward the USA
	L.O: To know the nature of the special relationship with the USA 1964-1970.�Lesson 18 – Foreign affairs: Relations with and policies toward the USA
	L.O: To know how the Labour government responded to relations with Europe.�Lesson 19 – Foreign affairs: Response to world affairs and relations with Europe
	L.O: To know how the Labour government responded to relations with Europe.�Lesson 19 – Foreign affairs: Response to world affairs and relations with Europe
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 20 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 20 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation
	L.O: To know how the Labour government continued the policy of decolonisation.�Lesson 21 – Foreign affairs: Decolonisation

